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25 HASH 11,786 11,076 710
201 LBt dY| 11,786 10,076 1,710
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FOXX D8 2dsHELS)
JHZot] etMEt SUl BHSDI (el &)
SN HB G (BH) - MRAY - BES Aro e Hlm= 2

Al 250

206 M=l 1,500 0 1,500
Al 1,500

01 MZHl 1,500 0 1,500
o) |RFH 1,500
Al 1,500

HY2IGH(ELS) 40,496 41,300 A 804

29l 9,920 9,360 560

N2Z og29| 9,920 9,360 560

203 HRF&H 9,920 9,360 560

01 JI22gYRFLY| 6,600 6,000 600
Oos& 6,600,000 x1H 6,600

02 HAINMHRFEI 320 360 A 40
OXAAD & 40,0003 x89 320

04 RBEN2ILRFLAY| 3,000 3,000 0
ORAEA2Z 250,000 = 12& 3,000
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01 3L 23,040 25,920 A2,880
OJlsg==8 ol 240,000& «8H =12 23,040

405 XHAHFSHI 2,000 800 1,200

01 XM EFHSHI 2,000 800 1,200
OZele wH 1,000, 000 *2CH 2,000
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OSARIZR Y| 800
401 ASHILLHH 5,000 1,000 4,000
01 Al 5,000 1,000 4,000
OSAREFIE &HF =4 Y+TA 5,000
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Al 15,000
2 55,420
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201 er2g| 1,600 1,400 200
01 AFRarelt] 1,600 1,400 200
ORIRAE 23 Ml 1,600
=oINxIS B 2,000 2,200 A200
201 Ygreg| 2,000 2,000 0
01 AFR2elt] 2,000 2,000 0
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MO Ho O
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el
il

_ pSNE e

M= ae CNIRAY - B S Abou G {imE=Eh
OB A& = 40,0003 «8H 320

04 RA2IHRF 3,000 3,000 0
ORANZHZ2IZ 250,000 128 3,000

| =&l 31,576 31,140 436

SfAMII=ZH 31,576 31,140 436
201 LEH= | 5,536 5,220 316
01 AtR2cidl 5,536 5,220 316
OFRMEYE JI2 =8I 440,000& 8 3,520
OJl=2ge==d 252,000& »8H 2,016

202 O 23,040 25,920 A2,880
01 SLHAHI 23,040 25,920 A2,880
O=LH0o bl 240,000 8 122 23,040

405 KHeHHE SHI 3,000 0 3,000
01 ML ESEFHSE 3,000 0 3,000
OS Al A 3,000,000 = 1CH 3,000




FM: UHES
A FOUXXD|IBH2S(UHES)
ol BEE FOIME B2 x4 (er9: @8
A BB O(B) - NEAY - BAS Of o e Hl R =2
&= 162,392 161,920 472
Al 20,800
- 141,592

FAUXXDIEH2S (HAES) 120,284 117,920 2,364
Al 20,800
S 99,484

WES F0HEH &3 =4 12,204 11,690 514

s BA2Z 12,204 11,690 514

201 et 12,204 10,690 1,514

02 =329gtl 12,204 10,690 1,514
ORERS 130,000& =12 1,560
oIS 350,000& * 123 4,200
O&,ot=ER3 70,0002 »6& 420
OXt= Al 27,000 «1CH 27
OXsi B2 265,000 = 1CH 265
OOlEXEE = 58,0003 = 1CH 58
OXsx SBINEREZ 70,000& »23| 140
Od=E SN RE= 50,0003 x23| 100
OFAEXSHIAIAEH 100,000& =123 1,200
OA0IE TVt = 10,000& =122 120
OFSkel ENP=EN 154,000& *13] 154
OalUsR 938R *7 Al 2hx70 460
OstExt KXl 100,000& = 1CH=12& 1,200
OOIEXt S XIdl 25,0003 ~1CH«12& 300
OFak—2=PNL:] 2,000

FoUXXE 29 101,180 101,430 A250
Al 19,000
- 82,180

ENE &3 1,200 1,200 0

201 Lt 1,200 1,200 0

01 At 2teld] 1,200 1,200 0
OUIENZF 2 HZH 1,200




A HES
M FOUXXDI2ZS(UHES)
el FOUXXE 29Y (EH9|:® <)
SAN-ZH-SA(FA) - NFAY - BES O AF K gl/liafﬁ Hlw &2
FUXX g 24835 2,000 2,250 A 250
201 BH2EH] 2,000 2,000 0
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FOXXg T2 29 24,000 24,000 0
Al 19,000
- 5,000
201 LEH23H] 5,000 3,000 2,000
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2 1,250
01 ArR2teld 5,000 3,000 2,000
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Al 3,750
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Al 14,500
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12 JIEI2 A2 18,000 20,000 A2,000
OFCRX3s 2% A=< 16,000
Al 13,000
- 3,000
O=QIXtXI2l THASALAH AHI 24 2,000
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SN BAS
A QUK DL 23 (E+S)
el ANE FOIMEH HAXH (el @)
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
2= 212,808 214,175 A 1,367
Al 21,000
T 191,808
FORX DIBt Z23H(E+S) 167,088 170,175 A3,087
Al 21,000
T 146,088
HES F0MEH SEXxd 13,368 16,205 N2,837
Z2s FAN2E 13,368 16,205 N2,837
201 LEH2 | 13,368 12,205 1,163
02 322944 13,368 12,205 1,163
ORBR= 250,000& 123 3,000
O&IIe= 250,000 128 3,000
OXS XAl 35,0003 = 1CH 35
Odot=E 22 30,0002 123 360
OstE=Eg =z 335,000 1 CH 335
OO0lExt EE8& 57,000 #2CH 114
OXsxt SEMEEE =S 50,000& »22 100
Od=E SIMERE= 60,0003 *22 120
OB M XAl A E 100,000& x12& 1,200
OOIZETV =t 2 18,7003 122 225
OaUss 938& 7 Al 2tx702 *3CH 1,379
Ost=2x | X4 100,000& «12& 1,200
OOI&Xxt |XIHI 25,0002 ~12& 300
OdE ANEE =AM 2,000
ZOIKE 2 146,720 146,970 A250
Al 19,000
- 127,720
2E AFeEs 1,400 1,400 0
201 LEHRHH| 1,400 1,400 0
01 AtR2teld 1,400 1,400 0
ORZANFLS MBH| 1,400
QXX g 435t 2,500 2,750 A 250
201 LEHREH| 2,500 2,500 0
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Al 19,000
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= 170
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fAM: RES
BB FOIXE| I8 YEH(RHS)
el ANE FOIME Y XA (el @)
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
FHSE 159,682 154,965 4,717
Al 17,800
- 141,882
FOIXX DB A BES) 121,186 117,965 3,221
Al 17,800
- 103,386
G FOAHEH & X4 11,126 10,905 221
ASHEAI2S 11,126 10,905 221
201 LErEAH| 11,126 9,905 1,221
01 AtR22ld] 1,074 1,194 A 120
Osdl 88 =& 80,000& x12& 960
O£ HIIAAN =42 114
02 =329l 10,052 8,711 1,341
o= 130,000 *12& 1,560
O&IIe=2 360,000& x12& 4,320
Odot=ER22 40,000 x12& 480
OO0IEXEEg = 57,000 = 1CH 57
OHSEIMEREE= 25,000 *23| 50
OFANEXEHIAIAE 100,000& x12& 1,200
OACIETV = Z 18,700 x12& 225
OO0IE X | XYl 30,000& «12& 360
Od= |Xl 1,800
F0OIXXIE 29 103,460 102,260 1,200
Al 16,000
- 87,460
DIANE &2 1,600 1,200 400
201 LBrEAd| 1,600 1,200 400
01 ArR2t2|bl 1,600 1,200 400
OANEEZ HZEH 1,600
FOIXIXIE &H35 2,000 2,200 A 200
201 B2 IH| 2,000 2,000 0
01 AR 2t2| | 2,000 2,000 0
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fAM: RES
Mz FOIXX J|E AEHEES)
&©e: F0XXg =249 (EH9|:® <)
_ _ SIE
2AH -3 - SH2A(SH) - MEAMY - BHES Ol & 'Oﬁ/'\jo“ Hns
OF0UXXE &G
20,000& x20H x53| 2,000
FOIXXE T 29 23,000 22,000 1,000
Al 16,000
- 7,000
201 B3| 2,000 1,000 1,000
Al 1,392
- 608
01 AtR22/Y| 2,000 1,000 1,000
OFoXxa 249 2,000
Al 1,392
- 608
301 LAz 20,000 20,000 0
Al 13,912
- 6,088
12 JIEIEAZ 20,000 20,000 0
OFUXXzg 2 ZA=Y 20,000
Al 13,912
- 6,088
405 KHaHE S H] 1,000 1,000 0
Al 696
2 304
01 XML SEFSHI 1,000 1,000 0
OF2UXXa 29 2E271¢ 1,000
Al 696
o 304
S.Bt&H 29 76,860 76,860 0
301 e ASZ 76,860 76,860 0
05 S-2l-etEEsgaa 76,860 76,860 0
osds¢ 72,160
ollgdg 200,000 x22H « 128 52,800
oM0U= 200,000& x22H *23| 8,800
o3| o &AL 20,000& x22H *23| * 12& 10,560
Oetd ¢ 25,000& *94H #23| 4,700
JHWRGtD otXE Sl 2HSD| 6,600 4,800 1,800
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2N 2EE
2 S AYH|(RBS)
9l D=l (9l &8
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 Ofl At ot HusZ
o= 2| 28,576 27,680 896
S PIEE] 28,576 27,680 896
201 Lsr2 | 5,536 4,640 896
01 ARl 5,536 4,640 896
SN2Y Jl2+S 40,0002 +8% 3,520
OJlzgess S 252, 00021 +8% 2,016
202 o1t 23,040 23,040 0
01 =LHOtH 23,040 23,040 0
OJl=gR4+8 ofyl 240,0002! +82 » 128 23,040
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| SR-E=))
HH . (3 H) - MBEAY - B gggf; HRS2
125,931 120,710 5,221
Al 17,750
- 108, 181
gt 2Ash(Z2ES) 87,137 86,410 727
Al 17,750
- 69,387
FOIMdEH &3 X 13,877 13,700 177
= FAI2Y 13,877 13,700 177
201 LErEAH| 13,877 12,700 1,177
AF2 22| Hi 1,980 1,980 0
Oodggtae &84 165,000 x12& 1,980
S229H| 11,897 10,720 1,177
OoRERZ 50,000& x12& 600
O3 500,000& x12& 6,000
Oadte=ER2=2 120,000& x6& 720
OO0lEXEE = 65,000 *1CH 65
Od=sZHd 74,000 *23| 148
OHENSKY 223, 2403 13| 224
SXIESPIET
100,000& x12& 1,200
OACIETY =2 10,0003 *12& 120
OAUER 938& *7 Al 2+x70 =1 CH 460
OO0IE X Al 30,000& 12 360
OH=S 7 XY 2,000
FOXXIE 29 67,010 68,210 A 1,200
Al 16,000
- 51,010
NS &3 1,200 1,200 0
201 B9y 1,200 1,200 0
AF2 22| Hi 1,200 1,200 0
OUIANE L2 MBI 1,200
DIXXIE 43 2,000 2,200 A 200
201 LBtEAH| 2,000 2,000 0
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FANBES
FH: FOXX e FeH(EF=E)
©el: FOURXIE 2% (&2 3)
_ _ SN E N
SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 Ol A4 Blus
01 AFR2teldl 2,000 2,000 0
O=eXXANE &
20,0003 x20E x53] 2,000
=0 AXe 228 29 22,000 23,000 A1,000
Al 16,000
- 6,000
201 Let=gEdl 2,000 3,000 A 1,000
Al 1,500
- 500
01 AtR2teldl 2,000 3,000 A1,000
OxF8XXz 24 2,000
Al 1,500
- 500
301 EtEH =S 18,000 17,000 1,000
Al 13,000
- 5,000
12 JIEet2d= 18,000 17,000 1,000
OFeXXal 28 A+ 16,500
Al 11,875
- 4,625
OFQUXXI 2 THESALA AHI 24 1,500
Al 1,125
- 375
401 AlIZ2HIZ=204HI 1,000 1,000 0
Al 750
- 250
01 A&t 1,000 1,000 0
OF2NX2 28 N2+ 1,000
Al 750
- 250
405 Xt&tE SHI 1,000 2,000 A1,000
Al 750
- 250
01 M =SHSH 1,000 2,000 1,000
O3 28 =57Y 1,000
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SN HES
M FOUXX D8 2SHEES)
el ANE FOIME Y XA (el @)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
gis 119,402 110,798 8,604
Al 13,750
- 105,652
FLUXX Olet ASHEES) 83,118 77,298 5,820
Al 13,750
- 69,368
WES F0HEH &3 =4 18,338 14,068 4,270
s BA2Z 18,338 14,068 4,270
201 et 12,388 13,068 A 680
01 At 2eld] 3,978 3,978 0
Odstael 8 =2 165,000& =12 1,980
Osdll Bd===2 154,000 *12& 1,848
OSLINEIIBA=E 150
02 232934l 8,410 9,090 A680
ORERS 50,000& ~12& 600
QI3 250,000& * 123 3,000
O&ol=E 2= 120,000& 62 720
OO0lEX B2 57,000 = 1CH 57
Odg s Re= 95,0003 23| 190
OdE NERLYFES 249,400 *13] 250
OFUAEXRSHIAIAE 100,000& =12 1,200
OA0IETVAZ 8,800& x12& 106
OAgotdE 3| 48,000 13l 48
OaESR 9383 *7 Al 2k+70 2 3 CH 1,379
O0lE&Xt KXl 30,000& *12& 360
OdE Rl 500
401 A&HIZ20YI 2,000 1,000 1,000
01 A&l 2,000 1,000 1,000
OFal—2-5=p/ Fal 2,000
405 KHaHE S| 3,950 0 3,950
01 T ESHSHI 3,950 0 3,950
OYdLtetd| WA (2aA) 2,350,000 *1CH 2,350
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SN YF
X0
L —

Ha: FLINR DB ZEH(LF1S)

Chel: ANE FOIME Y XA L)
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
Id=1= 163,776 152,818 958

Al 17,800
- 135,976
FOIXX D18 AeH(IEF:1s) 114,080 112,318 1,762
Al 17,800
- 96,280
G FOAHEH & X4 13,630 13,468 162
s A2 13,630 13,468 162
201 LErEAH| 13,630 12,468 1,162
01 AtR22ld] 1,640 1,640 0
OFiE 88 =2 130,000& x12& 1,560
OFXZE HIIAA =42 80
02 =329l 11,990 10,828 1,162
o= 130,000 *12& 1,560
O&IIe=2 400,000& x12& 4,800
O&4h ot 22 250,000& x6& 1,500
OO0lEX B8 = 57,000 = 1CH 57
Od= BN REE 2 97,000 *23| 194
ORNMIEH 892 100,000& x12& 1,200
OAOIE TV = &E 13,200 *12& 159
OO0IE X KXYl 30,000 =20 = 12& 720
Od= ®Xl 1,800
F0OIXXIE 29 93,850 94,050 A 200
Al 16,000
- 77,850
DIANE &2 1,200 1,200 0
201 LBrEAd| 1,200 1,200 0
01 ArR2t2|bl 1,200 1,200 0
O0ANE &3 MBI 1,200
FOIXIXIE &H35 2,000 2,200 A 200
201 B2 IH| 2,000 2,000 0
01 AR 2t2| | 2,000 2,000 0
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FM EF1S
A QXX Ol 2IH(EF1S)

el FOUXXE 29Y CERE))
X EH . CLO (5 SALO] . THA 2 Al OH HEE =2}
OFUXNXAAS &N ¢

20,0003 x20H *53| 2,000

FOXXE T2 29 21,000 21,000 0
Al 16,000
- 5,000

201 Lpt3H| 4,000 5,000 A 1,000
Al 3,000
2 1,000

01 At=2teldl 4,000 5,000 A 1,000
OxF2XXs 29 4,000
Al 3,000
- 1,000

301 EtEaz 12,500 12,500 0
Al 9,500
- 3,000

12 JIEIEAZ 12,500 12,500 0
OXQUNXS 2 SALL 10,000
Al 7,500
- 2,500
OFCIXtXIal NHASALA & HI24f 2,500
Al 2,000
- 500

401 A&HIZ204YI 2,000 1,500 500
Al 1,500
- 500

01 A&l 2,000 1,500 500
OFOINIS 2 ANaPS 2,000
Al 1,500
- 500

405 XH&HF SHI 2,500 2,000 500
Al 2,000
- 500

01 TR EEFHSHI 2,500 2,000 500
O XXls 29 25+ 2,500
Al 2,000
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X XH .
(= I

chel:

(BIH) - MEAY - B2 e 2t
FF=2= 180,288 178,595 1,693
Al 17,800
- 162,488
ESSIDADN 138, 180 134,595 3,585
Al 17,800
- 120,380
16,230 13,995 2,235
et AIR S 16,230 13,995 2,235
16,230 12,995 3,235
1,470 1,520 250
110,000& x12& 1,320
20| EI|ZBA == 150
14,760 11,475 3,285
200,000& x12& 2,400
500,000& x12& 6,000
70,000& x6& 420
60,0002 ~1CH 60
Olsxed™ 350, 000& = 1CH 350
65,000& *2CH 130
55,000& *23| 110
35,000& *23| 70
100,000& x12& 1,200
Ot X |yl 150,000 = 12& 1,800
30,000& 20 x12& 720
1,500
115,350 115,800 A 450
Al 16,000
- 99,350
1,200 1,400 A 200
1,200 1,400 A 200
1,200 1,400 A 200
1,200
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SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
01 JI22dPRF=L&Y 6,600 6,000 600
Oos% 6,600,000& *1% 6,600
02 HINHFRFEY 360 400 A40
O&XJA A &I & 40,000 x94H 360
04 BEMSITRFLEY 3,000 3,000 0
ORMZ=E2Y 250,000& 128 3,000
o= 2l 32,148 34,600 A2,452
2 AMII2Z I 32,148 34,600 AN2,452
201 L3 6,228 5,800 428
01 AtE2teldl 6,228 5,800 428
OFM2glI2+8d| 440,000& 9 3,960
OJI2gR8a &l 252,000 9H 2,268
202 O4dl 25,920 28,800 A 2,880
01 SLHAHbI 25,920 28,800 A2,880
OJlegedol 240,000 9 12 25,920
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